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A communication device that combines transmissions from several /O devices into one
line is a called
multiplexer

The layer change bits onto electromagnetic signals
physical

Which of the following is the Logical topology?
Bus

Which of the following of the TCP/IP protocols is the used for transferring files from
machine to another?
FTP

Usenet is another name for
CERN

A communication device that combines transmissions from several 1/O devices into one
lineis a
multiplexer

In which OSI layers does the FDDI protocol operate?
Data link

The acronymn FDDI means
Fiber Distributed Data Interface

The standard suit of protocols used by the internet, intranets, extranets and some other
networks
TCP/IP

The OSI model has layers
seven
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